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(1) FHFERFHEEOEE
<LNGE¥# A fiirg > < LPGF 9% A ffifg >
88,740 (H/*.) x 0.9576 + 90,980 (H/*%.) X 0.0466 = 89,217.092 (H/".)
= 89,220 (/") XI0OARFEEEIER A

(2) TRl % & B T 1 R BHEAE D E8 (RAMER EBE) OFEE

< YRR > < EAE T RS >
89,220 (A/*.) - 83,350 (H/%.) = 5,870 (H/%.)
= 5,800 (M/".) X100MRBZEYIIET

Q) REEMEHEMBAERBENEE

< RFHEE Z EhEE > <HEfME>
5,800 (F4/*.) x 0.081 (H/m) = 100 (H/%.) X (1 4+ o010) = 5.1678 (F/m)
= 516 (A/m) MINUEESRUTEYET
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<BEHEHMAHE> <fEE A B> <BIRFZIESH >*
169.03 (F/m) + 516 (F/m) - 8.00 (F4/m) = 166.19 (F/m)
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166.19 (F1/m) - 176.69 (F/m) = A 1050 (F/m)
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<HEXREE> <fEEHEHIH> <HRERAE>
1,588.88 (M/A) + 166.19 (/m) X 29(m/8) = 6,408.39 (A/A8)
= 6,408 (H/A) MIAREELET
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